APPENDIX II (A)
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C-PROGRAM FOR SECTION [3.5]

MINIMUM OF A WEIBULL DISTRIBUTION
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#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#include <time.h>
#include <conio.h>
#include <ctype.h>
void main{}

float d,dl,beta,alpha,f;
double x[5000),y,2z,min,a,b,cl,s2~0,83=0,eb=0,p=0;
int i,3j=1,k=0,k1=0,k2=0,n=1,1,r,c,q971long a=07long al=0rlong s4=0/s
FILE *£fps
fp=fopen ("web.xls", "wt"} ;
fprintf (fp, "Observed values of alpha and median sample sizes for simulation
studies with n=2%);
fprintf (fp,"\n BETA D ALPHA SALPHA MS-SIZE MSALPHA MMS-SIZE EBETA MLEA
MLE-SIZE")
clrscr() s
randomize () ¢
for (beta=.5sbeta<=1.0rbeta+=.5)
{ z=1.0/betar
for(dl=.1;d1<=.3;d1l+=.1)
{ d=dl1*(pow(log(10),2)~pow(log{10/9),2))7?
for (alpha=.05ralpha<=.157alpha+=.05)
{
j=lii=1;8=0;k=071=0;31=0;k1=0;84=0;k2=0;m=1;p=0;
for(i=1si<=50007i++)

for(i=1:3<=5000;j++)

{
x[j]=pow(~log (1.0~ (float) random {32000)/32000),2):
if(faba (x[j])==0) {j=j-1rcontinuer};

}

/* MECZARSKI PROCEDURE */

min=x[1] 7j=171=0;

do{ j+=1;
for (m=1;m<=J;m++) if (x[m]<min) min=x[m];
for (m=1rm<=3 rm++)
if (x[m] <=min+d) 14=1;
f=(float)1/j:
if (j>=log(alpha)/log(1.0-£))
{g+=jrif (min-d<0 && O«min) k4=1l;goto a?)
1=0;
}while (31<5000) ;

if (min-d<0 && O<min) k+=lrgoto b;
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/* MODIFIED MECZARSKI PROCEDURB */
a:l=0rq=jrc=87r=0;
édo{ =1y
for (m=q+1l;m<=q+10;n++) if (x[m]<min} min=x[m];
for (m=1;m<=q+10;m++) if(x[m]<= min+d) 14=1;

f=(float) 1/ (q+10) rcl=q+10-1log {alpha)/log (1.0-£},
if (cl>=0)

{8l4=q+l10bresak;}
else {1=0rq=q+10:1if(r<8) c=c+9-r;

else (if(r==8) c=4B8relse c=50r};continue;}
}while (x<10) s

if (min~d<0 && O<min) kl+=1s

/* M.L.E PROCEDURE */
b: min=x([1]rj=1r82=0rm=1reb=0s
do{ j+=1l;
for (m=1rm<=jm++) {(if(x{m)<min) min=x(m] ra2+=log(xi{m}) s}’
do{ eb+=0.0001,33=0.0;
for (m=1rm<=jrm++)
{ a=pow(x[m],eb);
33+=log (x[m]) *ar
}
}while (82+j/eb-s3 > 0)¢
b=pow (d+min, eb) s
if (j>=log(1.0/alpha)/b)
{8d4=]break;)
32=0reb=0/
}while (§<5000) s

if (min-d<0 && O<min} k2+=1lrp+=ebsprintf("\n $d \t $f \t $d",i,eb,c
}

)

fprintf(fp, "\n $2.2f %2.2f %4.3f $6.4f %41d %6.4f %41d $6.4f %6.4f

$414",beta,dl,alpha,1.0-k/5000.0,5/5000,1.0-k1/5000.0,51/5000,p/5000,1.0~
k2/5000.0,34/5000) s
} ‘

}

}
getch()»
fflush(stdin) s
fcloge(fp)?
}

/* PROGRAM END */
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APPENDIX II(B)
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C-PROGRAM FOR SECTION [3.5.1]

MINIMUM OF A PARETO DISTRIBUTION
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#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#include <time.h>
#include <conio.h>
#include <ctype.h>
void main{)
{
float d,dl,z,theta,alpha, f,cl,pl,p27double x[5000},y,min, t;
int i,j,k=0,k1=0,n,n,1,k2=0,k3=0,q,r=0,c=071long s=~07long 81=0;
long s2=071long 83=0;
FILE *fp;
clracre () s
randonize()
fp=fopen ("p3.xla", "w+") 7
fprintf (fp, "\n THETA D ALPHA SALPHA MS-SIZE AVG-C MSALPHA MMS~SIZE EALPHA
EMS-SIZE MEALPHA MEMS-SIZE");
for(theta=0.5rtheta<=2.0rtheta+=.5) {z=1.0/theta;
for{dl=.1;d1<=.5;d1l+=.1) {d=dl*(pow(l1l0,z)-pow{10/8,2)});
for (alpha=.001;alpha<=.1l7alpha=alpha*10) ({
for{i=1;i<=5000:i++)
{
printf {"\n %d4”,1i);
for{j=173<=5000;3++
{ x{3]1=1.0/pow(1.0-(float)random(32000)/32000,1.0/theta);
if (fabs {x[j])})==0) {j=i-1l:continue;};
}
/* MECZARSKI PORCEDURE */
J=1;1=0;nin=x{[1];
do{ j+=1;
for {m=1;m<=3;m++) 1f(x[{j}<min) min=x[j];
for (m=1;m<=3m++)
if{x[m]<= nmin+d} 1l+=1;s
f=(float)1l/js
if (j>=log(alpha)/log{l.0-£f})
{ st=jrif (min-d<1 && l<min)} k+=l;goto ar}:1=0;
}while (j<5000);
if (min-d<1 && 1<min) k+=1:
goto b:
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/* MODIFIED MECZARSKI PROCEDURE */
as l=0;q=jrc=9:r=0;
do{ r+=1;
for (m=q+1lrm<=q+10sm++) if(x[m]<min) min=x[m}:
for (n=1:m<=q+10;:m+4+) if(x[m]}<= min+d) 14+=1;
f=(float) 1/ (q+10) rcl=q+10-1log (alpha) /log (1.0~£) s
if (cl>=c)
{8l+=q+10rbreaks}
else {1=0rq=q+107if(r<=8) c=c+9-rrelse c=48rcontinuer}s
}while (r<10) ;
if{min-d«l && l<min) kl+=1;

/* USING MOMENT ESTIMATOR */
b: j=1l:t=0:min=x{1];
do{ i+=1s
for (m=1l;m<=rm++) if(x[j]<min) min=x[j]s
for (m=1;m<=] rm++)
t+=xim] : '
if (j>=log(l.0/alpha)/ (t/ (t-3) *log (min+d)))
{82+=1;pl+=t/ (t-]) tbreak;};
t=07
}while (j<5000) 7
if (min-d<l && l<min) k2+4=1;

/* USING M.L.E. */
j=1rt=0;min=x[1];
do{ j+=17s
for (m=1:m<=jrm++) if(x[jl<min) min=x[j}:
for (m=1/m<=] rm++)
t+=1log (x[m])
if (3»=log(1.9/alpha}/ (j/t*log (min+d)))
{83+=jrp2+=j/t:break;}:
t=0/
}while (3<5000) ¢
if{(min-d<l && l<min) k3+=1y
}

fprintf {fp,"\n %2.2f $2.2f $5.4f %6.4f %414 %6.4f %41d %6.4f

$6.4f %41d %6.4f %6.4f %41d",theta,dl,alpha,1.0-k/5000.0,3/5000,1.0~
k1/5000.0,41/5000,p1/5000,
1.0-k2/5000.0,82/5000,p2/5000,1.0-k3/5000.0,83/5000);

3=0:k=0;1i=1rm=1rkl=0;9=1;31=0;k2=0:32=0rk3=0:33=0:c=0:pl=0:p2=0;

}
}

}
getch () s
fflush(stdin};
fclose(fp) s

}

/* PROGRAM END */
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